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LEQ Thesis/Claim

LEQ Contextualization

LEQ Evidence

LEQ Analysis and Reasoning

Therefore, 1 point is awarded.
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The essay responds to Question 2 with a thesis that establishes a line of reasoning about the causes of the French Revolution, focusing on
LEQ Thesis/Claim social inequality and economic hardships as the most significant cause, supported by examples like the Enlightenment ideas, taxation 0-1 1
issues, and the disparity between the classes. Therefore, 1 point is awarded.
The essay establishes a broader historical context by mentioning the influence of Enlightenment ideas, social inequality, and economic
LEQ . : ) o o .
- hardships leading up to the French Revolution, fitting the criteria for describing relevant events, developments, or processes before and 0-1 1
Contextualization ) : .
during the revolution. Therefore, 1 point is awarded.
The essay identifies specific historical examples such as the influence of Enlightenment ideas, the economic hardships faced by the lower
LEQ Evidence classes, and the unfair tax system, using these examples to support the argument that social inequality and economic hardships were the 0-2 2
most significant causes of the French Revolution. Therefore, 2 points are awarded.
LEQ Analvsis and The essay uses historical reasoning to frame its argument, citing the influence of Enlightenment ideas, social inequality, and economic
Reasoniné hardship as significant causes of the French Revolution, but lacks the complexity and nuanced understanding required for the second point. 0-2 1




